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QUESTION 1

In the 5G era, services will shioft from 2C to emerging vertical industries, including 2B2C, @B, 2H. ..TF 

A. True 

B. False 

Correct Answer: A 

 

QUESTION 2

During 5G Standardization, which of the following is the SA (standalone) architecture developed in? -SC 

A. Phase1.2 

B. Phase 2.1 

C. Phase 2.2 

D. Phase 1.1 

Correct Answer: A 

 

QUESTION 3

Which of the following NSA networking statement are correct? 

A. deployment based on legacy 4G networks 

B. requiring continues coverage provide by 5G base stations 

C. capable of provisioning new services such as URLLC 

D. low investment in the initial phase of 5G deployment 

Correct Answer: C 

 

QUESTION 4

Which of the following technical solutions reduce the 5G delay? _MC 

A. Shortening the resource allocation interval 

B. Dynamic uplink and down link resources allocation 

C. F-FDMA 

D. D2D communication 
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Correct Answer: ABD 

 

QUESTION 5

Which of the following coding schemes is predominately used for traffic channel in 5G? _SC 

A. LDPC 

B. Convolutional code 

C. Polar code 

D. Turbo coding 

Correct Answer: A 
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